Manuals+ — User Manuals Simplified.

GYMAX CB10386DK-6 Workbench for Tool Storage
Instructions

Home » GYMAX » GYMAX CB10386DK-6 Workbench for Tool Storage Instructions -

Contents
1 GYMAX CB10386DK-6 Workbench for Tool
Storage
2 Product Information
3 Product Usage Instructions
4 FAQ
5 Parts
6 Documents / Resources
6.1 References

cymax

GYMAX CB10386DK-6 Workbench for Tool Storage


https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/gymax
https://manuals.plus/gymax/cb10386dk-6-workbench-for-tool-storage-manual.pdf

Product Information

Specifications

« Left Front Leg: 1 piece, Material: Q235

« Right Front Leg: 1 piece, Material: Q235

« Left Rear Leg: 1 piece, Material: Q235

« Right Rear Leg: 1 piece, Material: Q235

« Front & Back Panel: 8 pieces, Material: Q235

« Left & Right Panel: 6 pieces, Material: Q235

« Left Support: 1 piece, Material: Q235

« Right Support: 1 piece, Material: Q235

« Top Left Panel: 1 piece, Material: Q235

« Top Right Panel: 1 piece, Material: Q235

« PVC Foot Cover: 4 pieces, Material: Q235

« M6X14 Screw: 66 pieces

« M6 Nut: 66 pieces

« Countertop Shelf Panel: 1 piece, Material: Q235
« Top Panel: 2 pieces, Material: Q235

« Hanging Panel Wrench: 1 piece, Material: Q235
« Hanging Panel Hook: 2 pieces

« Screwdriver Hanging Panel: 1 piece, Material: Q235
« Drill Hanging Panel: 1 piece, Material: Q235

« Hammer Stand: 3 pieces, Material: Q235



Product Usage Instructions

Step 1: Assemble the Legs

1. Take the Left Front Leg (Q235) and attach it to the corresponding slot on the Front and back Panel (Q235).

2. Repeat the same process for the Right Front Leg (Q235).

3. Attach the Left Rear Leg (Q235) and Right Rear Leg (Q235) to their respective slots on the Front and back
Panel (Q235).

Step 2: Attach the Panels

1. Take the Left and right Panel (Q235) and attach them to the corresponding slots on the Front & Back Panel
(Q235).

2. Attach the Top Left Panel (Q235) and Top Right Panel (Q235) to their respective slots on the Front and back
Panel (Q235).

Step 3: Install the Supports

1. Attach the Left Support (Q235) and Right Support (Q235) to the

corresponding slots on the Front and back Panel (Q235).

Step 4: Add the Countertop Shelf

1. Attach the Countertop Shelf Panel (Q235) to the top of the assembled structure.

Step 5: Secure with Screws and Nuts

1. Use the provided M6X14 Screws to secure all the panels and supports together.

2. Use the M6 Nuts to fasten the screws in place.

Step 6: Attach Additional Accessories

1. Attach the PVC Foot Covers (Q235) to the bottom of each leg for stability.

2. Hang tools on the Hanging Panels using the provided hooks and holders.

FAQ

« Q: How many legs does the product have?

« A: The product has 4 legs in total, with 2 front legs and 2 rear legs.
« Q: How many screws and nuts are included?

o A: The product includes 66 M6X14 Screws and 66 M6 Nuts.

« Q: What is the material used for the panels and supports?

« A: The panels and supports are made of Q235 steel.

Parts



EN

No. Name Qty. Material
1 Left Front Leg 1

2 Right Front Leg 1

3 Left Rear Leg 1

4 Right Rear Leg 1

5 Front & Back Panel 8

6 Left & Right Panel 6

7 Left Support 1

8 Right Support 1

9 Top Left Panel 1

10 Top Right Panel 1

11 PVC Foot Cover 4

12 M6X14 Screw 66

13 M6 Nut 66

14 Countertop 1

15 Shelf Panel 2

16 Top Panel 1

17 Hanging Panel 2 Q235
18 Wrench Hanging Panel 1 Q235
19 Hook 8

20 Screwdriver Hanging Panel 1 Q235
21 Drill Hanging Panel 1 Q235
22 Hammer Stand 3 Q235




02

01

04

03

ISS— .
__ h
__ [
__ | __ __
I
__ __ __ |
[ T
T
_ | |
_ | _
“ _ __ _
|

)
o




06

T = _.,.._.L
N
i mi
]
| |
| ml
| )
L |
|\
AN DA,
T 11T
Ml
| J | | |
A ] |
|
IR

05



-'-'-n-'
= (1a)
o ==t
§ —
'@_f}/r—_ s ey
o
D

Documents / Resources

GYMAX CB10386DK-6 Workbench for Tool Storage [pdf] Instructions

CB10386DK-6 Workbench for Tool Storage, CB10386DK-6, Workbench for Tool Storage, Tool S
torage, Storage

References

+ User Manual

Manuals+, Privacy Policy



https://manuals.plus/m/1a1d6e1e82c789233733fa852aeeadc6db85bdadf3261a3271fccd435f1c3da3
https://manuals.plus/m/1a1d6e1e82c789233733fa852aeeadc6db85bdadf3261a3271fccd435f1c3da3_optim.pdf
https://manual.tools/?p=10912956#MTA0LjI4LjIwMi4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	GYMAX CB10386DK-6 Workbench for Tool Storage Instructions
	GYMAX CB10386DK-6 Workbench for Tool Storage
	Product Information
	Product Usage Instructions
	FAQ
	Parts
	Documents / Resources
	References



